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No. of Questions : 120

Time : 2 Hours ] ~ -{ Full Marks : 360

Note: (i) Attempt as many questions as you can. Each question carries 3 (three} marks.

1.

One mark will be deducted for each incorrect answer. Zero mark will be

awarded for each unattempted question.

(ii) If more than cne nlternative answers seem to be approximate to the correct answer,

choose the closed one.

The cheaper materials added to food items for more profit are called :

{1} Adulterants {2) Drugs

(3} Boeth of these (4) None of these

The organisms who can synthesize their own food are termed as :
(1) Autotrophic (2} Heterotrophic

(3) Chemoautotrophic (4) Chemo heterotrophic

The organisms obtain their nutrients from dead and decaying organic materials
are known as : '

(1) Parasitic (2) Saprophytic

(3} Heterotrophic (4) Autotrophic

Relationship between EMC and RH for biclogical materials has been given by :
(1) Perry {2) Rankine '

(3) Janssen (4) Henderson

If the moisture content of a food product on wet basis is 50.76%, its moisture
content on dry basis will be:

(1) 33.67% (2) 103.09%
(3) 150.76% (4) 49.24%

i3 P.T.O.
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11.

12,
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The amount of heat required to raise the temperature of 1 g of milk by 1°C in
comparison to water is :

(1) 85% (2) 93%

(37 107% _ (4) The same

Consider a spherical object having a volume of 1000 cc. The object is broken
down inlo smaller particles of about 1 mm size. The storage requirement of the
comminuted material in cc will be about :

(1) 1000 cc (2) 800cc
(3) 1200 cc . (4) 1400 cc

A dimensionless ratio of convective heat transfer to conduction heat transfer
within a solid is known as :

(1) Nusselt number {2) Prandtl number

{3) Lewis number (4) Bict number

Particle density of an agricultural produce is 1.95 g/ cc. The porosity of the bulk
15 36%. The bulk density of the produce is ;

(1) i.00 (2} 1.25

(3} 1.50 (4) 1.75

Alr at 40°C and 50% RH has a wet bulb depression of 10°C. If the relative
humidity decreases to 40%, the wet bulb depression will :

(1) Increase (2) Decrease

(3) Remain constant : {(4) Follow no definite trend

Decimal reduction time in microbial destruction is inversely proportional to :
(1) Z-value (2} Universal gas constant
(3) Initial concentration - (4} Reaction rate

Which among the following is present more in cow milk as caompared to buffalo
milk ?

(1) Fat (2) Carotene

(3} Minerals (4) Sugar

As pressure is reduced, the latent heat value :

{1) Increases (2) Decreases
(3) Remains the same (4) None of these

(2)



14.

15.

18.

1?{

18.

19.

21.

24,

25.

15P/280/2

The energy required in grinding large solid particles is inversely proporticnal
to the function of :
(1} Diameter (2) Density (3) Strength (4) Shape

Essential il obtained from tulsi is called :
(1} Cil of basil (2) Oil of essence (3) Oil of olive (4) Essental oil

For drying, fruits and vegetables are sliced for increasing :

(1) Temperature (2) Humdi%ﬂ

(3) Surface area {4} None of the above

Yoghurt contains useful :

(1) Bacteria {2) Virus (3) Yeast {4) Spores
Redness in apple is due to :

(1) Anthocyanin  (2) Lycopene (3} Carotene (4} Xanthophvlls
Wax coating treatment erthances the self-life of fruits because it blocks :

(1) Transpiration (2) Respiration

(3) Ripening process (4) None of these

The vellow colour in pnion is due to the pigment :
(1) Anthocyanin (2) Quercetin (3) Lycopene (4) Carotene

Which one of the following is ethylene absorbent ?
{1) KCl (2) KMnO, (3) KNQO, (4) K,S0,

Fruits which show a rise in respiration rate during the ripening process are
called : |

(1) Climacteric (2) Non-climacteric

(3) Parthenocarpic (4) Parthenogenetic

The yellow pigment in papaya fruitis:
(1) Carotene (2) Xanthophvlls (3) Anthocyanin (4} Caricaxanthin

Fruit stored in cold chamber exhibit longer life because :
(1) The rate of respiration decreases

{2) There is an increase in humidity

(3) Exposure to sun light is prevented

(4 C&. concentration in the environment is increased

Pungency in chilli is due to the presénce of :
(1} Capsaicin (2) Sulphur (3) Amides (4) Magnesium

(3) P.T.0.
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Which of the following fruit contains the highest amount of ascorbic acid ?

(1) Indian Goose berry (2) Mango

(3) Apple (4) Orange

Which one of the following is a richest source of vitamin A 7
{1) Ripe mango fruit (2) Carrot root

(3) Ripe papaya fruit (4) Ripe tomato fruit

The plant growth hormone which helps in enlarging the grape fruit is :
(1) Ascorbicacid {2) Gibberelicacid (3) Cytokinins {4) Ethylene

Which of the following is commonly used as preservative in the preparation of
tomato ketchup ? :

(1) Potassium metabtsulphite {2) Sodium benzoate

(3} Sodium metabisulphite {4) Citri¢ acid

Which one of the following is a method of long term preservation of fruits and
vegetables ?
(1) Pasteurization (2) Blanching (3) Refrigeration (4) Drying

Yellow coloured fruits and vegetables are rich sources of :
(1) Vitamin E (2} Vitamin C (3) Vitamin A (4) Vitamin B

Refractometer is used to delermine :

(1) Minerals (2) TSS (3) Vitamins (4} Protein
Central Food Technological Research Institute is located at :

(1) New Delhi {2) Mysore (3) Bangalore (4) Hyderabad
The edible part of pomegranate is :

(1) Thalamus (2) Mesocarp (3} Endocarp {4) Aril

Which of the foliowing is the richest source of iron ?

(1) Parsley (2) Spinach (3) Celery (4) Green peas
An ideal fruit for making jelly should be rich in :

(1) Pectin and sugars (2) Acids and prateins

(3) Sugars and acids . (4) Pectin and acids
A cyclone separator is used for separating : e
(1) Particles from liquids (2) Liquid droplets from gases

(3) Fine particles from solids (4) All of the above

(4)
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In single effect evaporator the economy is:

{1) Equaltol (2} Greater than 1

{3} Lessthanl (4} Lessthanorequaltol
The most commonly used fumigant for storage of cereals is :

(1) Zinc phosphide (2) Ethylene dibromide
(3) Aluminium phosphide (4) DDT

Extraction of soluble constituents from a solid by means of solvent is known as:
(1} Distiliation (2) Leaching (3) Evaporation  (4) Sublimation
Addition of salt toice will :

(1) Increase the temperature of the mixture

(2) Decrease the temperature of the mixture

(3) Not alter the temperature of the mixture

(4) Do nothing of the type said earlier

The first law of thermodynamics is a special case of :
(1) Newton's law (2) Law of censervation of energy
(3)" Charle's law (4) The laws of heat exchange

Pascal is a unit of :
(1) Displacement (2) Temperature (3) Pressure (4} Viscosity

A pyrometer is used lo measure !
(1) Temperature (2) Pressure (3) Humidity (4) Displacement

One ton of refrigeration is equivalent to :
(1) 50kcal/min (2} 100kcal/min (3) 150kcal/min (4) 200 kcal/min

The boiling point of milk in degree Celsius is :

(1) 99.5 (2) 10017 {3y 9 (4) 101
Dielectric constant of a food material depends upon :

(1) Temperature (2) Moisture content

(3) Density {4) Electrical conductivity

A boy has 240 grams of water at 50°C. The number of grams of ice at 0°C which
he must add to the water to lower the water temperature to 0°C is :

(1) 135 (2) 150 {3) 120 {4) 175
| (5) P.T.0.
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Which one of the follewing is deficient in milk ?
(1) Iron (2) Calcium (3} Phosphorous {4) Lactose

Headquarters of the Foad and Agriculture Organization is located at :
(1) Geneva {2) New Delhi (3) Rome {4) New York

The antisterility vitamin is
(1} Viiamin A (2) Vitamin B (3) Vitamin E (4) VitaminD

Which of the follewing sugars is sweetest ?

© (1} Galactose (2) Glucose {3) Fructose (4) Sucrose

Zero energy cool chambers operate on the principle of :
(1) Second law of thermodynamics (2) Evaporative cooling
(3) Bovle'slaw (4) Charle's law

Which one of the following fruit, grown is semi-wild form in wasteland of
peninsular India, is one of the largest foreign exchange earners ?

(1) Coconut (2) Mango (3) Cashew (4} Bandna
Site of protein synthesis in a cell is :

(1) Ribosomes (2) Endoplasmic reticulum

(3) Chloroplasts ' (4) Mitochondria

Who discovered X-ray first ?

(1} Wilsen {2) Roentgen (3) Benzer (4) Muller
Aflatoxins are produced by :

(1) Yeast (2) Bacteria {3) Molds (4) Nematodes
Pungency in onion is due to the presence of : '

(1) Allyl propyl disulphide (2) Diallvl disulphide

{3) Isothiocynate (4) Capsaicin

Which of the following is not a bio-pesticide ? :
(1) Bioneem {2) Biolep (3) Dipel {4) Carbaryl
Which of the following is a phenolic factor present in onion having anti-fungal
properties ?
(1) Quercetin {2) Catechol
{3) Sinigrin (4) Allyl propyl disulphide

(8)
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Major pest of potato duririg storage is

(1) Cutworms {2) Aphids

(3) Jassids (4) Potato tuber moth

Which vitamin is called coagulating vitamin ? .
(1) Vitamin A (2} Vitamin E (3) Vilamin X (4) Vitamin C
The pest which attack the pulses both in fields and at storage :

(1) Pulse beetle (2) Gram pod borer

(3) Red gram pod fly (4) Pod borer

Which of the following can not synthesize protein by cwn enzymes ?

{1} Bacteria (2) Mycoplasma (3) RLO (4) Virus
Mad cow disease is caused by :

(1) Virion (2) Pirion (3) Bacteria (4) MLO
Which one of the following can not be detected by ELISA technique ?

(1) Virus (2} Bacteria (3) Viroid {4) Fungus
The strongest bond is : -

(1) Tonic bond (2) Covalentbond (3) Hydrogen bond (4) Vander Walls

Latent heat of fusion (ice to water) is:
{1) 540 cal (2) 620 cal (3) 80 cal (4) 40 cal

Which of the following is deficient in rice grain ?
(1) Lysine (2) Glycine {3) lsoleucine (4) Alanine

Wavelength of visible light is :
(1) 260-350 nm (2) 360-760 nm (3) 390-760 nm (4} 400-700 nm

Most dangerous gas for depletion of ozone layer is :
(1) Chlorine (2) CEC (3) Benzene 4) CO,

Among the following which has antioxidant property ?
(1) Quinones (2) Tocopherols  (3) Phenaols (4) Sotbitols

The end product of glycolysis is : .
(1) Glucose (2) Sucrose (3) Pyruvicacid (4) NADH

(7) : P.T.O.
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Krebs cycle produces :
(1) 18 ATP (2) 30 ATP (3} 32 ATP (4) 36 ATP

Cellulose is a polymer of :
(1) B-DGlucose (2) a-D Glucose {(3) B-L Fructose (4) o-D Calactose

Green house gas for global warming is :

(1) O, (2) CH, (3) sG, 4) €O,
Unit of pressure in SI system is :

(1) Atmosphere (2) Dynes per square cm
(3) Pascal (4} mm of mercury

Coconut fat is a rich source of :-
(1) Palmiticacid {2) Stearicacid (3) Lauricacid  (4) Ricinoleic acid

Temperature of LTLT pasteurization of milk is : _
(1) 61-63°C (2) 42-49°C {3) 62-65°C (4) 51-65°C

Rickets is caused due to the deficiency of :

(13 VitaminC (2) Vitamin D (3) Vitamin A (4) VitaminB,,

Egg shell is made up of :

{1) Ca(OH), (2) Ca,; (PO,), (3) CaCQ, {4) CaO

Quality of egg can be judged by :

(1) Candling {?) Annealing (3} Temperature test {4) pH

Yellow color of egg is due to :

(1) Carotene (2) Anthocyanin  (3) Vitamin B (4) Xanthphyll

Hormone from milk secretion is : |

(1} Oxytocin (2) ACH (3) Prolackn (4} TSH

Crude fibre content in roughage is approximately : -

(1) 18 -20% (2) 30-32% (3) 25-27% - (4) 35-37%

Enzyme coagulated milk product is :

(1) Paneer (2) Dahi {3) Cheese (4) Chhena
(8)
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pH of fresh buffale milk is :
(1) 4.6 (2) 5.6 (3) 6.6 (4) 7.6
Which of the following vitamins remains most resistant on heat treatment of
milk ? '
(1) Vitamin A {2) Vitamin C (3) Vitamin B, (4} Vitamin B,,

Estrogen, progesterone and relaxin hormones are secreted from :

(1) 'Ovary (2) Adrenal (3) Pituitary (4) Thyroid
Hormone secreted from pancreas that lowers down blood sugar levels is :
(1) Glucagon (2) Insulin (3) Epinephrine  (4) Relaxin
Qut of the total bedy calcium, bone and teeth have:

{1y 9% (2) 89 % {3) 95 % (4) 99 %
Which one of the following is not a bacterial disease ?

(1) Ringderpest (2) Haemorrhagic septicaemia
(3) Anthrax (4} Black quarter

Surface adherence of gas, liquids or solids onto a solid is known as :
(1) Absorption (2) Sorption (3) Adsorption (4) Adhesion

Water loss from a cooked, cooled gel due to excessive retrogradation is called :
(1) Viscosity . (2) Syneresis (3) Surface tension (4) Evaporation

Which of the following is a starch hydrolysis derivative that may be used to
stimulate fat in emulsions ?

(1) Maltodextrin  (2) Glucose (3) Amylose (4} Amylopectin

Nonenzymatic browning reactions involving a reducing sugars and a free
amino acid on a protein is known as :

(1) Caramelization (2) Maillard reaction (3) Peroxidation (4) Deamination

Food processing method that converts ice to vapour without going through the
liquid phase is called :

(1) Freezing (2) Chilling

(3) Freeze concentration - (4) Freeze drying -

(9} P.T.O.
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The ratio of the vapour pressure of water in a soluticn to the vapour pressure of
pure water is :

(1) Relative humidity (2) Absolute humidity

{3) Humidity (4) Water activity

Resistance of flow of a liquid when shear force is applied is called :
{1) Viscosity (2) Surface tension (3) Elasticity (4) Turbulence

A high molecular weight methylated galacturenic acid polymer which is
insoluble in water and found in immature fruits is :
(1) Pectin (2) Pectinicacid (3) Pectic acid (4) Protopectin

Process of adding back a nuirient to make up the loss during processing is
called :

(1) Enrichment (2) Restoration

(3) Fortification (4) Supplementation

Wheat flour that is aged naturally or by chemical agents to improve baking
properties of dough is known as :

(1) Matured flour (2) Bleached flour (3) Hard fiour (4) Organic flour

The name given to a proposed new regulatory category of foed components
that may be considered a food or a part of a food and may supply medical or
health benefits including the treatment cr prevention of diseases :

(1} Pharmaceuticals {2) Specialty foods

(3) Nubraceuticals {4) Drug

Pressure exerted by water filled vacuoles on the cytoplasm and the partially
elastic cell wall is called :

(1) Vapour pressure (2) Cell pressure
{(3) High pressure (4) Turgor pressure
Movement of solute across a petmeable membrane from an area of greater

concentration to lesser concentration in heated products that do not have an
intact cell membrane is called :

(1) Permeation (2) Osmosis (3) Drffusion (4} Ultrafiltration

Changes in conformation of proteins caused by changes in temperature, pH or
ionic strength, or by surface changes is called :

(1) Deraturaton  (2) Deamination  (3) Decarboxylation (4) Autooxidation
(10)
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89. In case of relatively inelastic demand, the elasticity is :
(1) E=Infinity (2) E=<1 (3) E=>1 (4) E=1
100. In case of substitutes, the cross elasticity of demand is :
(1) Positive (2) Negative (3) Zero (4) Infinity

101.  Disposable income is given by :
(1) Private income - Direct taxes (2) Private income + Direct taxes
(3) Personal income — Direct taxes (4) Personal income+ Direct taxes

102, Marginal propensity to consume is alwa ys:

(1) Greater than zero (2) Greater than one
(3) Less than zero (4) None of the above
103. In Net worth sta tement, liabilities are on .............._ side.
(1) Left (2) Right (3) Middle (4) Notincluded

104. SBI was set up in :
(1) 1945 (2) 1935 (3) 1965 (4) 1982

105. Elasticity of Production at the end of zone IJ of production function is :
(1) More than 1 (2) Less than 1 (3) Equalto1 (4) Zero

106. Which of the following is irrational zone of production ?

(1) Izone (2) II zone (3) III zone (4) Iand III zone
107.  When MRTS = 0, then the products are
(1) Complementary (2) Supplementary
(3) Competitive (4) Antagonastic
108. If marketed surplus is greater than marketable surplus, then the situation is
known as : .
(1) Market efficiency (2) Market integration
(3) Distress sale (4) None of the above
109. The pungent principle in chilli is :
(1) Capxanthin (2) Anthocyanin
(3) Capsaicin (4) Calcium oxalates

(11) P.T.O.
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110. In which vegetable crop curing is done ?

(1) Onion (2) Brinjal (3) Carrot (4) Pumpkin
111. Whiptail in cauliflower is due to deficiency of :

(1) Calcium (2) Boron (3) Manganese (4) Molybdenum
112. Pusa Purple Cluster of Brinjal is resistant to :

(1) Drought (2) Mites (3) Purple Blotch (4) Bacterial Wilt
113. Pinching is commonly practiced for obtaining better flower production in:

(1) Rose (2) Marigold (3) Tuberose (4) Jasmine
114. Origin place of Gladiolus is : ;

(1) South Africa (2) Brazil (3) Mexico (4) Guatemala
115. Which medicinal plant has largest area in India ?

(1) Senna (2) Opium (3) Isabgol (4) Periwinkle
116. Total Soluble Solids (TSS) is measured by :

(1) Hand Refractometer (2) Colorimeter

(3) Spectrophotometer (4) Thermometer
117. Loose jacketed citrus fruits are :

(1) Sweet oranges (2) Mandarins (3) Limes (4) Lemons
118. Scientific name of lemon grass is :

(1) Cymbopogon flexuosus (2) Melissa officinalis

(3) Artemesia pallens (4) Mentha citrate
119. The first commercial transgenic vegetable crop is :

(1) Tomato (2) French bean (3) Brinjal (4) Cow pea
120. Coorg Honey Dew variety of papaya is:

(1) Dioecious (2) Gynodioeceous

(3) Monoeceous (4) Polygamous

(12)
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